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1. 2mmAl SUHA2Q &H A
NO 1 NO 2 NO
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Dw 933.9 Tw 187.9 Dw 861.5 Tw 177 .1 Dw
W 51.0 Ws 746.0 W 46.6  Ws 684.4 W
W= 6.8% W= 6.8% W
HZzs | 6.8%
2. BHAZAZZ2AH (W) = W/ (14w) 2835.2
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4. P2.0(YH2.0MUIAS IRELE)= W2/Wo 56.6%
5. 2mmA 0l Y2 Alge A=A
H ot 1 2 1 2=1/W0
- — o e aat gez oy | o= Ik
MosEel BARA | g | eww | FFER| uss | sas
75 .0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 469.50 0.00 0.0% 0.0% 100.0%
19.0mm 5 456.80 496.20 39.40 1.4% 1.4% 98.6%
9.5mm 6 489.70 594 .80 105.10 3.7% 5.1% 94.9%
4.75mm 7 524.00 787.80 263.80 9.3% 14.4% 85.6%
2.0mm 8 448 .90 1272.20 823.30 29.0% 43.4% 56.6%
* AXAES2 1231.60 g
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NO @ 1 NO : 2 NO : 3
WW = 1258.9 WW = 1201.1 W =
oW = 1202.4 Tw = 186.9 oW = 1148.0 Tw = 193.5 oW = Tw =
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11:11 1 0.0100f 0.0100 150.0 150.0 12.2490 0.0041 0.0497 25 0.0020f 0.0120 16.8% 4. 2%
11:12 2 0.0100f 0.0100 150.0 75.0 8.6614 0.0041 0.0351 25 0.0020f 0.0120 16.8% 4.2%
11:15 5 0.0090( 0.0090 152.0 30.4 5.5131 0.0041 0.0224 25 0.0020f 0.0110 15.4% 3.9%
11:25 15 0.0080f 0.0080 153.9 10.3 3.2032 0.0041 0.0130 25 0.0020f 0.0100 14.0% 3.6%
11:40 30 0.0080f 0.0080 153.9 5.1 2.2650 0.0041 0.0092 25 0.0020f 0.0100 14.0% 3.6%
12:10 60 0.0080f 0.0080 153.9 2.6 1.6016 0.0041 0.0065 25 0.0020f 0.0100 14.0% 3.6%
15:10 240 0.0080f 0.0080 153.9 0.6 0.8008 0.0041 0.0032 25 0.0020f 0.0100 14.0% 3.6%
11:10 1440 0.0070f 0.0070 155.8 0.1 0.3290 0.0041 0.0013 25 0.0020] 0.0090 12.6% 3.2%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) Sietol 1 & AXAIZ22A 12:2E 25O B1OA =24 1.0507 X 2 20l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.67 cm/g Gs/(Gs-0.99678)*rw 1.616  g/cm Vb : —‘?—E 2Ll 21 (em) 57.50
A HAABIHS HHA (o) 58.84
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H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
Xl BIMS (I 255 5 S DIESPR=E = IIMENE |EEIIE Shs
0.85mm(NO.20) 1 437.4 491.0 53.60 46.5% 46.5% 53.5% 30.3%
0.425mm(N0.40) 2 375.5 414.0 38.50 33.4% 79.9% 20. 1% 11.4%
0.25mm(N0.60) 3 387.7 398.6 10.90 9.5% 89.3% 10.7% 6.0%
0.106mm(NO. 140) 4 345.8 345.8 0.00 0.0% 89.3% 10.7% 6.0%
0.075mm(NO.200) 5 356.5 357.6 1.10 1.0% 90.3% 9.7% 5.5%
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